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BENRRK SHEE TS SIS AR RN E

£ b B - BkTiE B % =2 B ® & wm =
EEIEE 8,633,576
BEXHE 8,633,576
FERA=E 8,633,576
FERA=E 2,861, 655
Bl =2 fE 584,271
1 BIE%EE 1.00 418, 342 418, 342
=
2 HMIERR 2ERRY) 1.00 165, 935 165, 935
=
KRA=E 2,271,318
SBETRE 1.00 204, 470 204, 470
=
4 BEBE (GBW) 34.10 11,008 375,372
km
5 EEBIE (B 235.90 7,196 1,697,536
km
STHRAIE 1,691,294
EESAE 518, 640
6 BE 1.00 72,422 72,422
=
7 HBEERRE 94.00 4,747 446,218
J=1
KERZE 1,172, 654
8 fitkmiAlE 5.50 21,987 153, 928
km




BENRRK SHEE TS SIS AR RN E

9 HEETA=E 18.20 55,974 1,018, 726
km

MRHE 3,170, 387
BE 3,170, 387
10 sREEERL (1) 1.00 2,641,543 2,641,543

=
1M H|ESERQ) 94. 00 5,626 528, 844

T

EEREE 910, 240
BE 200, 000
12 ZBRR&R 1.00 200, 000 200, 000

=
W& 673, 840
13 & (FRETEFHBLUSN) 1.00 673, 840 673, 840

=
Z 0 36, 400
14 T4 ) UIRE BIE%H 1.00 36, 400 36, 400

=




FIBEEEEE - TRZEEBRLRLAE

4 g B - K& B 2 il * % W=
EEAEE 8,633,576
HRHE 8,633,576 x 67.2% — 5,339 5,796, 424
REEEE 8,633,576 + 5,796, 424 14, 430, 000
R EHME 14, 430, 000
HBEREALE 14,430,000 x 10.00% 1,443,000
BEXEHE 14,430,000 + 1,443,000 15, 873, 000




K& -ET/\vr—2

TIBFEEEE BEREERIREZNE

&5 1
2 BEEERE 1%y
£ 7 R - BIRTiE BARL 2 BO(f | W E B &
RIS EFHEm
A 2.00 45, 700. 00 91, 400
B EHER
A 5.00 40, 000. 00 200, 000
B E A
A 4.00 30, 700. 00 122, 800
MAH 2H0%
% 1.00 414, 200. 00 4,142
= g YEZERED 1. 00X 418, 342. 00 418, 342
&5 :2
B BMERR QEESZY) 1%y
£ 7 R - BIRTiE BARL 2 BO(f | W E B &
REMHENE
A 2.00 24, 200. 00 48, 400
cSvy 2tiE
=] 4.50 25, 754. 00 115, 893/4. 70H / 8H
AN 2H0%
% 1.00 164, 293. 00 1,642
= g YEZERED 1. 00 165, 935. 00 165, 935
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TIBFEEEE BEREERIREZNE

#5:3
B BT R b EED
% # U - IRk Bfi & f @ H E W&
REE F4 b2
B 1.00 3,109. 00 3,109 2.00H / 8H
AR
A 1.00 40, 000. 00 40, 000
R B
A 1.00 30, 700. 00 30, 700
ARHTF
A 1.00 29, 600. 00 29, 600
HEf FRP D 70PS%!
B 1.00 71, 631. 00 71,631/8H
GNSSHEI P& DGNSS
B 1.00 18, 150. 00 18, 150
EEARR 175/ 100kHz
B 1.00 9, 256. 50 9, 256
AR e Tl
% 1.00 202, 446. 00 2,024
=] i fEZRES : 1.00L 204, 470. 00 204, 470
s 4
2 BEHHR (BW) L LREI LY
% # U - IRk Bfi & f @ H E WoE
REE F4 b2
B 1.00 3,109. 00 3,109 2.00H / 8H
HEf FRP D 70PS%!
B 1.00 71,631. 00 71,631/8H
AR
A 1.00 40, 000. 00 40, 000
R B
A 1.00 30, 700. 00 30, 700
ARHTF
A 2.00 29, 600. 00 59, 200
GNSSHEI P& DGNSS
B 1.00 18, 150. 00 18, 150
EEARR 175/ 100kHz
B 1.00 9, 256. 50 9, 256
AR e Tl
% 2.00 232, 046. 00 4,640
=] i EEBES : 21.50k m 11, 008. 00 236, 686
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TIBFEEEE BEREERIREZNE

&5 :5
B BERAE (GBS 1BH%Y (41.4km)
£ 7 R - BIRTiE BARL #H = BO(f | W E B &
REE >4 kN2 2L
=] 1.00 3,109. 00 3,109/2.00H / 8H
A= FRP D 70PSZ!
=] 1.00 110, 896. 00 110, 896 8H
B EHER
A 1.00 40, 000. 00 40, 000
B E A
A 1.00 30, 700. 00 30, 700
RIEBF
A 2.00 29, 600. 00 59, 200
GNSSRIfI =& DGNSS
=] 1.00 31, 900. 00 31,900
BERER 15T 100kHz
=] 1.00 16, 269. 00 16, 269
MAH 2H0%
% 2.00 292,074.00 5, 841
= g YEZEREN M. 40km 7,196. 00 297,915
&S :6
2% BE 1%y
£ 7 R - BIRTiE BARL #H = BO(f | W E B &
REE >4 kN2 2L
=] 0.60 3,109. 00 1,865/2.00H / 8H
RIS EFHEm
A 0.60 45, 700. 00 217,420
B EHER
A 0.60 40, 000. 00 24,000
B E A
A 0.60 30, 700. 00 18, 420
AN 2H0%
% 1.00 71, 705. 00 1117
= g YEZERED 1. 00 72,422.00 72,422
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TIBFEEEE BEREERIREZNE

&5 .17
B WERELRE 1B3Y (22%)
£ 7 R - KT B = BO(f | W E B &
REE >4 kN2 2L
=] 1.00 3,109. 00 3,109/2.00H / 8H
B EHER
A 1.00 40, 000. 00 40, 000
B E A
A 1.00 30, 700. 00 30, 700
REBF
A 1.00 29, 600. 00 29, 600
MAH 2H0%
% 1.00 103, 409. 00 1,034
= g YEZRES : 22.005 4,747.00 104, 443
%5 :8
A A= 1BH&HY (4.8km)
£ 7 R - KT B = BO(f | W E B &
REE >4 kN2 2L
=] 1.00 3,109. 00 3,109 2.00H / 8H
B EHER
A 1.00 40, 000. 00 40, 000
B E A
A 1.00 30, 700. 00 30, 700
REBF
A 2.00 29, 600. 00 59, 200
AN 2H0%
% 1.00 133, 009. 00 1,330
= g YE%HEN : 4.80km 217,987.00 134, 339
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TIBFEEEE BEREERIREZNE

&5 :9
A HEETAIE 1B&HY (2.4km)
£ 7 R - KT B B = BO(f | W E B &
REE >4 kN2 2L
=] 1.00 3,109.00 3,109/2.00H / 8H
B EHER
A 1.00 40, 000. 00 40, 000
B E A
A 1.00 30, 700. 00 30, 700
REBF
A 2.00 29, 600. 00 59, 200
MAH 2H0%
% 1.00 133, 009. 00 1,330
= g YE%HREN : 2.40km 55,974. 00 134, 339
H5:10
B MESERK () 14y
£ 7 R - KT B B = BO(f | W E B &
B FEHE
A 8.50 45, 700. 00 388, 450
B EHER
A 26. 60 40, 000. 00 1,064, 000
B E A
A 26. 60 30, 700. 00 816, 620
REBF
A 11.70 29, 600. 00 346, 320
AN 2H0%
% 1.00 2,615, 390. 00 26,153
= g 1YE%HEH - 1.00K 2,641,543.00 2,641,543
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TIBFEEEE BEREERIREZNE

#5511
B |mESER () 1004EHTE S Y
2 Lo R - KT B B = B M | # w %
B FEHE
A 1.00 45,700. 00 45,700
I E AR
A 3.00 40, 000. 00 120, 000
RIS AT
A 6.00 30, 700. 00 184, 200
REBF
A 7.00 29, 600. 00 207, 200
MAH 21K0Y%
% 1.00 557, 100. 00 5,571
& B YEZAES - 100. 004& B m 5,626.00 562, 671
H5 :12
2 EBHRSR 14y
2 Lo R - KT B B = B M | # w %
(BRRRE
= 1.00 200, 000. 00 200, 000
& it 1YE%HEH - 1.00K 200, 000. 00 200, 000
H5 13
B - RE GREFEBL 14y
2 Lo R - KT B B = B M | # w %
& GREFEBFLY)
= 1.00 673, 840. 00 673, 840
& it 1YE%HEH - 1.00K 673, 840. 00 673, 840
H5: 14
&¥: EZRYUTRE REEH 14y
2 Lo R - KT B B = B M | # w %
ZTOMEE
= 1.00 36, 400. 00 36, 400
=) it 1YE%HEH - 1.00K 36, 400. 00 36, 400




